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> & 32cm

100.48 + 3.14 = 32( cm)
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[> HED 34.54cm

0.

11 % 3.14 = 34.54( cm)
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» E cm

[> HED 18cm

113.04 + 3.14 + 2 = 18(cm)
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[> HE: 47.1cm

1)

75X2x3.14 = 15% 3.14 = 47.1(cm)
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O WA]E©°] 2cmel &
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® ¥F7} 1256 cmel o

@ #AE0] 25cmel

@ #]20]23cmQ ¢

~&B

A58 o7t 245 A= AANEE A&
E}.
® A& 4cm
@ A& 2.5cm
® A& 6cm
@ A& 2.3cm
® A5 12.56 + 3.14 = 4(cm)
et 9571 71 2 de oyt

=
=

of Fol & vw]




12. v 99 955 F5HA L.

4 5cm

>
> HE 2826cm

45% 2% 3.14 = 28.26( cm)




13. AE°] 1m ¢ ¥ 2] =947 JFUT o] 28 4E 5 HH
=320, 2547 2240 A= 2 m Y7
@D 1m @ 5m ® 7.85m
®)15.7m ® 314m

=2HAE 5 U] 208w, 294 & Zo]9] 5 ui7F Hyth
wabA 1x3.14 x5 = 15.7(m) YUYtk




14. 9 =¥ do7b188.4cm 91 ¥ WHx[F9] dol=Z cmPU7F?

® 10ecm @ 15ecem @ 20cm @ 25cm (@)30(:111

(9] E4)) = 2x(Y2] ¥ 2) x3.14
188.4 = 2x (9] ¥tA]E5)x3.14
e P0] ¥ 22 188.4 + 3.14 + 2 = 30( cm) YU TH.




A%7} 53.38cme) Y| WAZY Lol F emPU7H

@ 8cm @ 7.5cm @8.5(:111
@ 17cm ® 3.14cm

B

(95F) = (AE) x3.140]122

53.38 = (X&) x3.14 JYrt.

(A2) =53.38 +3.14 = 17(cm) 0|22
g2 8-9] 4ol 8.5cmY YTt
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A9 A gL FokAL

2 flellA 3urF] F Y 22,137 emE A AFHTh

() =(AA 2= A=)+ (F2 2)
=22.137 + 3 = 7.379(cm)

(9F) = (AE) x3.14

7.379 = (A§) x3.14

(AE) = 7.379 + 3.14 = 2.35( cm)
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® Ly @ 19 @%HH
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1 1
@13 ® 2, o)
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(2] 50] 6cmQl Y] PF)= 6 x 2 x 3.14 = 37.68( cm)
(A5°] 8cmdl Y] AF) =8x3.14 = 25.12(cm)
3768 3

1
25.12 = 2512 = —1-(n
37.68 + 25.12 = 3768 + 2512 = 7o = 5 = 15(*H)
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T2, ol ool HASU7

@ A3 @ Hezd (@)zg%y_}ﬁg
@ BE7Y ® B3

B ,
A0 E|o] dol=
7.5%x2x3.14 =471
471 +7.85=6°]2

A EHE 6 5=t A
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24 e AW shtel o] et
2+30x3.14
=120 + 94.2 = 214.2( cm)




